
RMF-zz-xx/yy

980 128 rev.0

980 128 rev.0
...to complete your network

www.conteg.com

INSATALLATION INSTRUCTIONS



980 128 rev.0 2 ...to complete your network
www.conteg.com

Required
Notwendig

Požadováno
Demandé
Требуется

left
right

RMF-21-80/yy 32x M5x10 ISO 7380

RMF-33-80/yy 32x M5x10 ISO 7380

RMF-42-80/yy 64x M5x10 ISO 7380

RMF-45-80/yy 64x M5x10 ISO 7380

1. Package includes:

32x M5x12 ISO 7380

> 400kg

32x M5x12 ISO 7380
 4x M10x65

3x M5 DIN 985

1x

RMF-FF-zz/xx

1x

2x
1x

RMF-RF-zz/xx

RMF-TB-xx/yy RMF-SP-zz/yy

RMF-HVE-80/yyRMF-HVE-60/yy

1x
4x

RMF-BRACE

4x  +  4x

RMF-21-60/yy 24x M5x10 ISO 7380

RMF-33-60/yy 24x M5x10 ISO 7380

RMF-42-60/yy 48x M5x10 ISO 7380

RMF-45-60/yy 48x M5x10 ISO 7380

RMF-21-60/yy 4x

RMF-33-60/yy 4x

RMF-42-60/yy 8x

RMF-45-60/yy 8x

RMF-21-80/yy 4x

RMF-33-80/yy 4x

RMF-42-80/yy 8x

RMF-45-80/yy 8x



980 128 rev.0 3 ...to complete your network
www.conteg.com

Hex key size 3

1.4 Legend1.3 Requested tools (not included)

SPIRIT-LEVEL

1.

2.

2. Assembly



980 128 rev.0 4 ...to complete your network
www.conteg.com

3.

4.






980 128 rev.0 5 ...to complete your network
www.conteg.com

5.a - RMF-zz-80/yy

5.b - RMF-zz-60/yy

!

!

 

 



980 128 rev.0 6 ...to complete your network
www.conteg.com

7.

6.a - RMF-zz-80/yy

6.b - RMF-zz-60/yy

 

 



980 128 rev.0 7 ...to complete your network
www.conteg.com

8.

9.

> 400kg

left

right

right

left

right

right

left

left



980 128 rev.0 8 ...to complete your network
www.conteg.com

CONTEG, spol. s r.o.

Headquarters Czech Republic:
Na Vítězné pláni 1719/4
140 00 Prague 4

Tel.: +420 261 219 182 
Fax: +420 261 219 192

conteg@conteg.com
www.conteg.com

Local Offices:

Austria:		  +43 699 1819 7071
Benelux:		  +32 477 957 126 
France: 		  +33 686 074 386
Germany:		  +49 170 523 4958
Russia:		  +7 495 967 3840
Slovakia:		  +421 917 874 111

 




